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N9BR N9 KD 9793 X971 7MIPY — You could not have said ‘I bought
it’.

Overview

»aX told w"27 that the W n of >7°2 X°17 AMPY is not a valid wn, for you could
not have claimed it, since there is a 9 that the field belongs to the omn>.
The 0"aw interprets' the 8713 to mean that if you would claim *72 X7 7mp»
you would not be believed. o010 (disagrees with the 0"aw" and) offers a
different interpretation.

2R 7717 987 23 ¥ 08 — Even though, if he would have claimed -

TAR1 57977 9702 X7 Amph — ‘T bought it’, he would have been believed —

WO T XY 2wpn Yan — nevertheless the claim of >72 X°7 7mMpP cannot be
considered as a wn —

NABR NOXR RYT WD oM — and this is the interpretation of the phrase
‘you could have not claimed it’; it does not mean that it is not an acceptable claim,

for in fact *72 ®°n AmMpPY would be an effective claim. Rather the phrase 'n R noxn &Y'
means —

32 21 T Pwah 9120 1t XY — you did not have the capacity to act so
brazenly and claim >72 x1 7mp? -

X9p P17 3195 — since a rumor has been spread, that it is not your field —

Mo IND XY — and therefore there is no 3% here. The rational of a 1 is that
we should believe the present claim because he could have just as easily presented a more
effective claim, which would be accepted. However in this case we cannot say that ¥"29
could have just as easily stated that he bought the field, for there was a (persistent) rumor
that the field belonged to the o»n°. w"27 would be very uncomfortable in (lying and)
claimi3ng that it is his field®. Therefore there is no 1. This is usually referred to as a 17
aTvaT.

moon will now cite a similar ruling:
(%3 17) PRNTOPT S1 P92 w77 w1 — and there is something similar to this

in the second o of 4'{’!2?17’,7 Noon, where the X3 claimed that we must believe
the sender —

" .

? It would be much easier to (lie and) claim that their father still owes him money (especially since he has a
W), than to claim that he bought the field where (he has no 7vw and) the rumors persist that he never
bought it.

? The commentaries note that even though a 711717 1 is effective by 17n; however it is not effective
7y12wn "WoRY. See footnote # 7. Other claim that this is a 77173 71V since the 737 contradicts it.

* The x7m3 there cites a 71wn that states if a 12w was asked to bring something from the window and it
turned out to be w7p7, the sender is 911, not the 5w [by 77°v» the rule is 7772y 12772 5w w°]; even if the
sender subsequently claims that in his mind he intended that another object be brought. The X3 wanted to
prove from this 7w that 0°727 oK 272w 0°727. The X m3 rejected this proof, because perhaps the sender is
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>on%57 7917 Yo ;13 ar 1) — for he could have said I was aware that it was
v7pn. Therefore we have to believe him on account of this 1> that he really intended to
have the % bring a different object (and he is 712°¥12 21 only because 7"X 272w 0°127).
The X713 rejects this argument, and claims that there is no 13°», because —

XYo@ owes s °xY — he will not make himself for a Y@=, by claiming 7
N —

w92 — the interpretation of the phrase Xy°w1 wo1 "wn X2 does not mean that he
will not be believed to make himself a ¥ (as in the rule of 'vw7 XY DWw»n 27X PX'); but
rather it means that —

SN 791 11X02 2R 1R — he will not willingly say ‘I was a 751%’; a person
does not want to incriminate himself (even if that will exempt him from a j27p), he would
rather maintain that he wanted something else to be brought —

W% N PRY — and therefore there is no 17 here in the case of '7vn, and the
sender is 72°yn2 272 (because we do not believe him; but not because of 272w 2°127).
871 928 — However it is certain that -

Snet 7ot R 2R — if he actually said I was a 79 in this 7%°vn —

1T Nuwd — it is obvious that he is believed and will not be obligated to
bring a "1 7°vn 12778 We may derive from that X723 that even if the 13n is an effective
claim, nevertheless if it is a 777¥77 to make such a claim, the 3»°n is invalid.

Summary
A 21 is not effective ([727p@1] 7¥1awn »1MORY) if it is a ATYaT Wn.

Thinking it over
1. Why does mpoin disagree with the 2"2wan wv17°97?

2. Can we distinguish between the X3 in w72 and our X713; that even
though in PU7°R it is not a valid 13°», nevertheless here it will be a valid 12°77?

lying, when he claims that he intended for the %W to bring a different article. He may be lying because he
does not want to be 72°y1n2 2. The X3 replies we cannot assume that the sender is lying (when he
claims that he wanted something else to be brought) in order to be 115 from 79°v1; for if he wanted to be
715 he could have simply said I was aware that it is w777, There is no 72°91 21°1 by 7°m; only by 3 w. The
X3 then rejects this refutation as stated in the text above.

5 The text in PYITP reads "N 7om s 9 M.

% The text in PwITP reads 121 "wnT WX 722y &Y' This seems to lend support to Moo interpretation.

7 According to the commentaries in footnote # 3, it may be necessary to include that J727p% >BRY ATYAT ™1
1R K.

¥ The rule of yw M3y o°wn 07X PX will (perhaps) not apply here, since (among other reasons) according to
his testimony he is not 21 in a j27p; we will be causing him to bring 771v% 1211. This is easily
distinguishable from the actual case in the 73wn where he claims that he meant for the m%w to bring
something else; for there he is contradicting his initial statement and claiming that he did not mean it. In the
case of "N 7", he is not contradicting; merely clarifying.
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